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ENGLISH
PAPER PATTERN

1. Reading- 5m

2. Literature- 15m
3. Language — 15m
4. Writing skill- 5m

HINDI
PAPER PATTERN
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MARATHI
PAPER PATTERN
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MATHS

PAPER PATTERN Marks: 40
SECTION - A

Q.1 Multiple choice questions.

Q.2 Fill in the blanks.

SECTION -B

Q.3 Solve the following (any-4)

Q.4 Solve the following (any -3)
SECTION -C

Q.5 Do as directed.

Q.6 Solve the following word problems.

SCIENCE

PAPER PATTERN Marks: 40
Section A

Q.1. Choose the correct alternative answer:
Q.2. State whether the following true or false:
Q.3. Match the column:

Q.4. Fill in the blanks:

Section B

Q.5. Draw a flowchart: (any 2)

Q.6. Give scientific reasons: (any 4)

Q.7. Answer the following questions: (any 4)

SOCIAL STUDIES
PAPER PATTERN(40marks)

Q.1. A. Fill in the blanks with the words given in the brackets.

B. Tick the correct answers and write in the blanks.

C. Match the following.

Q.11. Answer the following questions. Very short answers.
Q.111. Name the following.

Q.1V. Give reasons.

Q.V. State the following True or False.

Q.VI. Questions based on MCQs.

COMPUTER
PAPER PATTERN
1) Fill in the blanks. (10)

2) Write true (t) or false. (10)
3) Tick (v') and write the correct option. (10)
4) Match the following. (10)
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